Al F2 488Uy 23|d
= =012 a2 & 2
g Z R
2
%
i ‘SotAlot 2 - 23512, EHSE - 2, |4
(EH91 : 7H:, wipkel
o ot A & off A oH
T ees A | MTIXIE | MTAR | 110lM | TIHAA | B %

A 11 16 26 181 506,425 | 447,983 58,442
2R ST 1 1 3 21 40,606 38,188 2,419
YDA E A =5 1 1 4 13 6,907 4,365 2,543
== =1t 1 3 3 48 43,487 36,677 6,810
P~ RSES LY 1 4 6 37 53,342 39,415 13,926
Hes:Edn 1 1 4 29 352,631 | 320,354 32,177
2B EME 1 1 1 2 685 685 0
ClY M EAYE 1 1 1 3 698 628 70
CIY & ECt=Eat 1 1 1 5 1,738 1,623 115
S AlE L 1 1 1 7 621 605 15
AASHAATAIG = 1 1 1 13 5,189 4,822 367
IH A =EHAE 1 1 1 3 621 621 0
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BBRED
YD ATUSH(2HUB/BY)

MAZL BBHM L (SHol: &)
SN -2 . c2(3) - NBAY - HES Off &+ o4 JIEA Husz

2BEED 40,606,990 38, 188,242 2,418,748

2 130,500 0 130,500

3 22,435,000 21,985,000 500,000

g 7,341,000 6,011,000 1,330,000

= 20,000 0 20,000

= 10,680,490 10,242,242 438,248

2R ABUSH2IHUZ/DY) 38,998,348 36,603,700 2,394,648

2 130,500 0 130,500

=l 22,435,000 21,985,000 500,000

g 7,341,000 6,011,000 1,330,000

= 20,000 0 20,000

= 9,071,848 8,657,700 414,148

MAFQ BRI L2 899,829 674,400 205,429

p 222,000 42,000 180,000

= 20,000 0 20,000

= 657,829 632,400 25,429

BZMASEHA 2 256,000 236,000 20,000

= 20,000 0 20,000

= 236,000 236,000 0

206 TH=H| 12,000 0 12,000

= 12,000 0 12,000

EE 12,000 0 12,000

ORIZE(AIIF) 7MY YeEA X 2,000 0 12,000

= 12,000 0 12,000

401 AlEHIR ROy 8,000 0 8,000

= 8,000 0 8,000

01 Al 8,000 0 8,000

O2IEE(AIIF) TR YAEA EHIH 8,000 0 8,000

= 8,000 0 8,000

s o HAMK 7S 68,000 58,000 10,000

307 2I2+0|H 60,000 50,000 10,000

02 SIIHARE 40,000 30,000 10,000

OLABZOBIHDl 2% 40,000 30,000 10,000

ASS SIS GIMUIRH A KIR(2D) 195,429 0 195,429

g 180,000 0 180,000

= 15,429 0 15,429

308 XX SHHISOI 195,429 0 195,429

pf 180,000 0 180,000

= 15,429 0 15,429

01 RXSHBAHRES 195,429 0 195,429

OHAASES 2/t OIBHIRHAIY X 195,429 0 195,429

p] 80,000 0 180,000

T 15,429 0 15,429

SHEE 2BXR L 22,403,000 20,553,000 1,850,000

3 15,205,000 14,705,000 500,000
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SN BRRED
M YADVY AYUSHSHUBD/BY)
©9l: SHIIE 2B N L]
SN - ZH . OR(ED) - NEAY - HES 0l &k o bIE=L! B2
71 2,550,000 7,400,000 7,150,000
= 4,648,000 4,448,000 200,000
SOOI ZY BRIHLA (D) 4,365,400 3,715,400 650,000
= 3,358,000 2,858,000 500,000
= 1,007,400 857,400 150,000
403 XX SIS XHZO0IH 4,365,400 3,715,400 650,000
=l 3,358,000 2,858,000 500,000
= 1,007,400 857,400 150,000
01 XXSHX=2E 4,365,400 3,715,400 650,000
OSHR B BIW 4,365,400 3,715,400 650,000
= 3,358,000 2,858,000 500,000
= 1,007,400 857,400 150,000
BYST 2H5H=D) 900,000 0 900,000
J| 900,000 0 900,000
403 XEXISHRISXHO0IE 900,000 0 900,000
g 900,000 0 900,000
01 XXISHHIX=2E 900,000 0 900,000
OMEINSZH L WBI2I 2 900,000 0 900,000
| 900,000 0 900,000
NEET-PETEm) 20,000 0 120,000
ol 120,000 0 120,000
403 XEXISHRISXHO0IE 120,000 0 120,000
g 120,000 0 120,000
01 XXX 2 X 120,000 0 120,000
OARITI| E2 =MFAANLY 120,000 0 120,000
I 120,000 0 120,000
SR KX 50,000 0 50,000
403 XEXISHRISXHO0IF 50,000 0 50,000
01 XXSHX=2E 50,000 0 50,000
ouY AENA A2 X2 50,000 0 50,000
SHMESYE =4 130,000 0 130,000
)| 130,000 0 130,000
403 XEXISRISXH0IF 130,000 0 130,000
ol 130,000 0 130,000
01 RXSHX=2E 130,000 0 130,000
©0I0PI0t U= SIMENELZ X4 130,000 0 130,000
ol 130,000 0 130,000
PR F& L N 9,952,800 9,722,300 230,500
= 130,500 0 130,500
=l 7,230,000 7,230,000 0
= 2,592,300 2,492,300 100,000
BZTAL ZHl L 22 421,300 321,300 100,000
IR T 250,000 150,000 100,000
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2SN ZHRXED
I U2ADeZ HBUASH(2SL 2R/
Chol: DX =M L N (EERSEE)
2A - Z3H . A(3H) - HBAY - BHES Off A oH J| & oM RS2
01 Al&H] 250,000 150,000 100,000
OZ0| Y= AURE =4 250,000 150,000 100,000
22 HELIGH SR (2ZAIL)(=21D) 130,500 0 130,500
=2 130,500 0 130,500
403 KIXISHHISX=0IH 130,500 0 130,500
= 130,500 0 130,500
01 XIXISHHAH=Ex 130,500 0 130,500
O=CIZZX(2UA) Hoi=E7 XN 70,500 0 70,500
2 70,500 0 70,500
O=20IZAX(FY) W=7 XN 60,000 0 60,000
= 60,000 0 60,000
KASSE 22X K 5,384,719 5,319,000 65,719
pJ 4,569,000 4,569,000 0
[= 815,719 750,000 65,719
H2l L3t 2 E 222Y 65,719 0 65,719
101 Q12| 6,342 0 6,342
04 JIZtHRERRSES 6,342 0 6,342
OES T3 - 22E 222Y 6,342 0 6,342
201 YLEH2YH| 59,377 0 59,377
01 ARZ2/H 43,514 0 43,514
O T3l - 22E 222 43,514 0 43,514
02 ZEZ29H| 15,863 0 15,863
O&S T3l - 232E A2 15,863 0 15,863
2 cElzel 22 358,000 335,000 23,000
CEZE JIBIAIL &= 286,000 72,000 214,000
401 AlEHIZL 200 34,000 70,000 236,000
01 Al&HI 33,000 69,000 236,000
OAKIOIZAENZAI Y 33,000 69,000 236,000
403 KHXISHHISKH=0|E 250,000 0 250,000
01 XIXISHHIXH=EEX 250,000 0 250,000
OEHEHA TRIZR SE=XHE HH| 100,000 0 100,000
QURIE T LS5 EA FH| 150,000 0 150,000
CRIMA STIZEIAIY 59,000 250,000 A191,000
401 AlEHIZL 200 59,000 250,000 A191,000
01 Al&HI 57,000 247,000 A190,000
OUIANIZEN A CHEAIEHH| 57,000 247,000 190,000
03 AlZ=204HI 2,000 3,000 21,000
OUIAEENA AL EH 2,000 3,000 21,000
NIPESS(2ZTED) (2512022 1,231,819 1,207,719 24,100
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